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— 18U/92/29(Set-1)

No. of Questions : 100"

we=l B wEar - 100
Time : 2% Hours | [ Full Marks : 300
a5y ;. 21: gUE | [ goitE: 300
Note: (1) This gquestion booklet contains 100 (hundred) questions in all (30 in

(2)

Section — A and 70 in Section ~ B). Attempt as many questions as you can.
Fach question carries 3 (three) marks. One mark will be deducted for each
incartect auswer. Zero mapk -will be awarded for each unattempted

auestion,

39 - yfider 7 we 109 e € (@rge= A #5309 @Us — 4 7 70}
e 1RE Wl @ TA HEA @ WEE g | ge e 3 (@) oF @1 o8

yeE AT IR B [ UF AP FIeT AR T ST Wi @l U@

I B |

If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.

ofe vaRe defous I wE WR B e wih g o Fecas Wl S
7T |

(3) P.T.0.
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1. Who plays most important role in the growth of a student ?

(1) Principal (2) Guardian

{(3) School manager (4) Teacher

v fremlt B i & @ et Aecaqe R FRET 2 2
(1) wer=ramd (2) g

(3) foermsa gew (4) TRers

2, Teaching aptitude means :
(1) devotion towards teaching work

(2) The desire to become a teacher
(3) The requisite professional abilities to do the job of a teacher

(4) None of the above
ey arferger & @l 2 -
(1) Prm &7 & ufd =

(2) uw R g9 Bl g
(3) U@ (e o B aee u'ﬂa aqap‘j

(4) Swaa # W Fg A6

3. An effective teacher is he who :
(1) has control over the class.
(2) can deliver more informalion in limited period.
(3) inspires students how to learn.
(4) carefully checks the home assignment.
UEH g AeHgS 98 § W
(1) ®e&r uv gz v 2
(2) w9 F9a ¥ s I % F@dl ¢
(3) faenfaral & &9 B G 5as forv ofa wwar &
(4) T8 B B \iawryde wigdr €|

(4)
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4. Achild froma disorganized home will experience the greatest difficulty with::

(1) Well structured lessons (2) Independent study
(3) Programmed insiruction (4) Short answer tests
U srnfed TRaR @1 qwen waw sfide wfead arpra B

(1) Yerafled el @ (2) TerimaTgEE ST A
(3) FFHEE SRy A (4) FLITT Fheoy &

5. The main purpose of teaching is :

(1} development of reasoning power  (2) development of thinking power

(3) Both (1) and (2) (4) giving information only
foeror &7 THE el &

(1) arfd® ofd &1 Qe (2) g ofda & fadra &
(3) IF (1) 3R @2) (4) TS I &

6. In ateacher dominated classroom, students usually become :

(1) Active learners ) Passive learners

(3) Competent learners

TF SATHE shive /UEE @] 1, : :
(1) Ofhg s (2) Ffsra sfemeesal
(3) &1 st (4) wmeRfrie sifdrmea

7. An effective method of learning a language is :
(1) Reading
(2) Listening
(3) Writing
(4) Reading, Listening, Writing and Speaking
oTT WrEe @ uE weraEe fafr €
(1) 9&-1
(2) g0
(3) formam
(4) T, e foRe SR |ren

(5) PT.O.
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8. Values are not taught but caught, then how to inculcate values amony future
citizens ?
(1) Through teaching
(2) Through guidance and counselling
(3) Through strict discipline
{4 By following values
el w! Ry w8t gies T (S ) @ amiRel § el @ B by
forar o7 e & 2
(1) fneror g
(2) v iR gmwel g
(3) FER IFIAHA g
(4) Foai di AU B

9. Insetting a question paper yorwill pay moreallention on:

(1) Content

(2} Distributionof que&tiun\.—«a d d a
{3} Construclion of questions

{4} Duration of question paper

Tk WET9E ol AT e WA amg e 9

(1) fauz awg w

(2) wemt @ faae o

(3) wzEl & fAamhr

(4) wETE B eEE W

10.  Effective teacher is he/she :
(1) Who has control over the class
(2} Who can deliver more information in limiled period
(3) Who inspires students 'how to learn'

(4) Who carefully checks the home assignment

(6)
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U WImdl e g8 2
(1) Fassem wen gz Frim g & |
(2) o WiFer e § afdre |aeT € THar ¥
ot {aenfot @ 6 i sin sww (@0 oRa FRar )
(4) TR B BT HeargdE wiee 2 |

1f yellow is called blue, blue is called red, red is called pink, pink is called black
and black is called orange, then what is the colour of blood 2

(1} vellow (2) pink

(2) blue (4) orange

afE G F1 A FE TG 8, e T AT BE] Tl 8, A B T Fw A

et WY B BET GG B Al Bl B AR HET T & 4l ¥F B O R T
&2

) ren (2) I
(3) Aletr (4) AR
In a ceftain code language CA L Jow will 'BIG" be written
in that code ?
(1) CML 2y gJL (3) CLL (4) CNL

v Fiftge difae A A CAT &1 'DDY forar amr & | 39 wiafas 4 (@)
4 BIG' &7 4 for@r s ¢
(1) CML (2) CJL (3) CLL (4) CNL

Clock : Time : : Thermometer : 7

(1) Heat (2) Radiation
(3) Energy (4) Temperature
g AH ;gAY 7

(1) H=T (2) BT

(3) Tt (4) TTUE

(7) P.T.O.
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14.

15.

16.

17.

Gt Bellet : : Chimney @ 7

(1) Ground (2) Smoke
(3} House (4) Roof
T {g5®) : geie @ R ?

(1) oo (2) gail
(3) =¥ {4) =u
Find the value of question marks (7}

AR . 8 PSR P W 6 R

(1) OP (2) PQ
{(3) RR (4) SR

geAdrs sl & 5 9asy
C, Z, Gy V. ., ?, ?
(1) AP

(3)"RR

adda

Choose the correct alternative :

1,4,9, 16,25, (oevewss))

(1) 35 (2) 36 (3) 48 (1) 49
1,4,9,16,25, ()
(1) 35 (2) 36 (3) 48 (4) 49

Aruna ranks twelfth in a class of fortvsix. What will be her rank from the 1ast 2

(1 23 (2) 24 (3) 35 (4) 37
foraref frenfofl ot wen 3 seom &1 &9 12 21 Afam 9 Swa T e 2 o
1 23 (2) 24 (3) 35 (1) 37

(8)
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If Raman is ta the South of Sh yam and Mohan is to the Fast of Shvam, then in
which direction is Raman with respect to Mohan ? -

{1) North-East (2) North-West  (3) Soulh-East (4) South-West
o v T SR W R ol WEd i ¢ Qi R a1 o e &) o [T
R A 7 7

(1) STyl (2) waz-giFas (3) sfEmr-gd (1) wio-ufd=s

There are six persons A, B, C, 1D, Eand F. Cis the sister of F. B is the brother of
F's husband. [ is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 19 and 20

?.-5'm‘ﬁFﬂA,B,{f,D,Eﬁrﬁ?F?]C,Fﬂﬁﬂ‘a’ﬁ%lﬁ,EfﬁWﬁfrﬁl’ﬁﬁlD,Afﬁl
Rrar & &k F &1 grer & wogg 3 a7 fem, s o ok U@ A B 07 w9 19 Td 20
I T -

Wha is the mother ?

(1) A {2) B (3), D (4)=E
o 87

(1) A 2) B (3 D (9 E
Whao s E's husband ? a d d a

(1) B AT (3) A (4 F
E &l ol B § 7

(1) 2y C (3 A (4) F

In which year Mahamana Malaviya was awarded Bharat Ratna ?

(1) 2014 (2) 2015 (3) 2016 (4) 2017
ST ATerar &1 fha ad wRa < fear wan v
(1) 2014 (2} 2015 (3) 2016 (4) 2017

Who is related to 125th vear of Chicago Addresses ?

(1) Swami Dayanand {2) Swami Vivekanand
(3) Swami Yoganand (4) Swami Ramtirth
frrei rErEl & 1259 of § @ el 8 7

(1) @M guTT= : (2) @il fders

(3) @ A= (4) T el

(9) PTO.
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23.  Operation Indradhanush is related to ;
(1) Immunization (2) LPG
(3] Poverty elimination (4) Banking
i g=memy R wafiy & 7

(1) T (2) o o e
(3) T aw (4) Al

24.  Which project is related to computer literacy ?

(1) CAl (2) CLASS
(3) WINDOW (4) CPU
w- afRgRa 9o wewa § wEeg 8 7
) WioTealEe () ol o loT Helns
(3) fassr (+) otlemo
25.  Which is recently launched ua ‘d a MERD'in India ?
(1) SIWAYAM (2 ABHIYAN
(3} VARSIHA (1) MOQCS
HITT 7 (FoUdodiRoSle §T 816 ¥ & $IF-wT sifvengs sfim s 0o fhar oy
g7
(1) =M (2) afa-
(3) @i {4)

26.  When NCTE was established as a statutory body in India ?
(1) 1992 (2) 1993 (3) 1994 (4) 1993
e U FIfE e @ w1 F wofiediego @it vermme @ g 2

(1) 1992 (2) 1993 (3) 1994 (4) 1995
(10)
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Which one of the following bodies is respﬂnsibie for assessment and
accreditation of Universities 7

(1) UGC (2) NAAC
(3} MHRD (4) NCERT

Dealel ol @ Sibeld td Yera ¥ B-a e Faver & 7
(1) Pouflodeo (2) THoTetoRio

(3) THOYHOHROTIo (4) TlodlogodRatio

PMMMNMTT was launched in

(1) December, 2014 (2) February, 2015
(3) January, 2016 (4) July, 2015
BroTHoTHTHoTToUHoRI0Ee @) I3 §F
y fawmaw, 2014 (2} mvEs], 2015
(3) S, 2016 (4} T@s, 2015
Madan Mohan Malviya University of techimology is situated in :
(1) Varanasi ‘ é
{3) Gorakhpur (4) Allahabad
=t e A denfi frafaener few ©
(1) = o (2) HTFYE A
3) TMEYR H (4) gemEMEIg H
Who was the first Vice-chancellor of Banaras Hindu University ?
(1) Shree P.S. Swamy Iyer (2) Pandit Madan Mohan Malviva
(3) Sir Sunder Lal (4) Dr. Sarvpalli Radhakrishnan
e g RregRienery & woM argdl TRTeR &1 o ?
(1) = do 0 Tl IR (2) oftsT HEA AEA €I
(3) HY YN o (4) Sfo WATcel IEATEHIT

(11) P.T.O.
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31.

32.

33.

SECTION -B
Wis —

If G, M and R represent the gravitational constant, the varth's mass and carth's
radius respectively, then the escape velocity is given by :

ARG, M R R w99 oo Fadie, gofl @) el 10 godh 2 B wefiia
&, a1 g afa wm aE ge

m A
’1 EE
W % o [

I,
3) % (4) 21‘! ;1

Which of the following was unified by Maxwell ?

(1) Electricity and Magnetism {2} Electromagnetism & Gravilation

(3) Electromagnetism & Wea g d ity & Sound
Ve e

faforfiag 7 @ d R Ee g ﬁ—-ﬁm e
) e e g () fega-gaee i e
{)WWWW gae dal Hﬁﬁ?ifﬂ‘{'ﬁ'iﬁﬁ

The density of a solid of weight W is “d'. if this solid is immersed in ltquid of
density p then the apparent weight of the solid will be :

W 9 arel T 8 &l ued d 21 IR 3 S @1 p e o a6 W ogw fm wn
o T [REad aw e

) S ' e
M W=w1-= 2) W - w‘i-._|
Lood nl
! Y
(3) W’=WL1+E] (4) ];ﬁ,-”-;w(l ii
oy = O

(12)
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The moment of inertia of a cireular disc of radins R and mass M about an axis
Perpendicular to the disc at the centre is:
R Bsa vd M wef ard v gaeR e o7 e syt 59 R § @ead
&7 R A g o w o gar &

(1) MR’ gy MR
2
(3) % (4) 2 MR?

Which of the following is a non-conservative force ?
(1} Gravitational force (2) Frictional force

(3) Spring force (4) Electrical force
faeafafiag A ®-1 iy wfcad a0 & 7

(1) ToEBET acl ) T g

-4 o adda
Elastic behaviour of a solid depends on:

(1} Interatomic forces

(2} Medium surrounding the solid

(3) Temperature of the solid

(4) Surface of the solid

et o @1 aroeR @aer i w R @ g
(1) S GV @ 4 b e 0

(2) B9 & IR AR @ WEAH U

(3) ©IF @ dIUHA W

(3) 3 & TOE W

(13) P.T.O.
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T

38.

39.

T efficiency of a Carnot engine working between emperature

T, and I- with

L > Ty s given by :
[, W 7, amgw & dig wert i) eie $R @) qe Prefian @6 o
Ty

i =

N = i
(1 ; } I

Ty=Ts T

W = g
T gy

A soitree emitling transverse waves is moving away from a stationary diserver
with uniform velocity o If the wavelength of the wave is Ly and its velocity ¢ iy

greater than © then the wavelength measured by the observer will be -

(3) ;—_=:«LU(1—%}
FI] AT Iearan el dicll @
afe oo @ W ¢, 0 @ s
TTes] BT

At e 4 9 o ve 2|
UeTH G T R e

o

(2) ?—!1,[1}-—|

Ey s

§ o, -4
() r=hy|1-L] (4) -'*-=3‘~ﬂ|‘+.[7|
LY Ly

i A

The radiation emitted by a blackbody source gives rise o fnﬂﬂwing spectrum ;

(1) Continuous spectrum (2) Band spectrum
(3) Line spectrum (4) Raman spectrum
UE BTET W W gt Afere e R w e g ¢
(1) Hag T (2) 4% ¥aEH

) ©llg WEeH (4) vH wEen
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Photo electric effect was experimentally verified by

(1) R.S. Muiliken (21 A.H. Campton
(3) J.]. Thomson (4) R.A. Millikan
oeTe-faege wNTg BT GATETeIE Fee (fated g fear war
(1) 3o uee qfeEa (2} To Tdo HFCH
(3} o We ZHEA (4) 3o o fifera-

Fraunhofer lines are observed in the following :

(1) Hvdrogen spectrum (2) Molecular spectrum

(3) Solar spectrum (4) Atomic spectrum

TETET YT SEerad q 9 Rl €

(1) STERToR T (2) ST SueeT

(3) wTel ¥WECH (4) TR W

The colour of light from a ligh djd dson:

(1) Atoms of the Hemimnducta ae*a of the semiconductor
{3} Surface of the semiconductor Band gap of the semiconductor
mmmﬂﬁﬁmw?ﬂﬁmﬁﬁawﬁﬁ?ﬁm%:

(1) sEfdIcdd & TRAT] (2) swfemeld & Ay

(3) HeTaTeT® P Als (4) AEATd BT Foll

In relation to Indian industries enterpreneurship is :

(1) Necessary (2) Unnecessary

(3) Burden (4) Wastage of time and monev
HRdT FEN B TEy § I €

(1) HTETd (2} AT

(3) W (4) TFEA TH g9 B agi)

(15) P.T.O
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a4,

45.

46.

47,

According to Sociological approach enterprencarship is

(1) Process of sensivity

{3) VProcess of Economic clﬁmgu
AT SO @ argun Suf@dl &
(1) HrgeFan & afmm

(3) s yfiads o uftsa

(2) Process ol role performance

(4) Process of habits

(2) it g @1 afden
(4) amed @1 gl

Keratomalacia disease is caused by deficiency of

{1) Vitamin A
(3} Fat

(2) VitaminC

-ty Vitamin B

eIt T v fad a8 & e BT

(1) faefm A

(3y I

2) fefim
(4 faeimE B

Diental Florosis diseases 1s causgiddu
(1) 35 ppm florine in waler 2 a1 florine in waler

(3) 0-2 ppm florine in water
Bl Yol e AR @1 w8
(1) 3-5 Hrfey was o &
(3) 0-2 drdres wEeE wd |

Minimum of which is present in fruits :
(1) Protein

(3) Vitamins

WAl YA ST W R Ty o 7
{1y widE

(3} faerfo=r

(16)

(4) 1-2 ppm florine in water

(2} 0-12 Tivy varis o3 &
(4) 1-2 dfivq ga@se we §

(2) Carbohydrates

(4} Minerals

(2) WeEREcH
(4) fomwey
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Which robeinis tound intice ?

(1) Argenin (2) Zein

(3) Glutenin (4) Albumin

Adel H HIF-H1 W g & ?

(1) TSt (2) o

(3) weef () e
Process of change of unsaturated fats into saturated fat is
(1} Saponification {2} Hydrogenation
(3) Oxidation (4) Emulsificatir:rn_
R e R R W 1 e e T 0 e M 1
(1) wrasrETof {2)" TS BIAHIAT
(3) HTR{THE (4

Nylon fabric is made of which pra d d a

(1) Phvsical method ) Chemical method
i3 Mined method (4) Local process
AGeliF & g T b g1 3R R o

(1) wifas fafy (2) vty faf
(3) fafem faf (4) == fAf

Is a plastic fibre :

(1) Nylon (2) Rayon

(3) Orlon (4) Wool

TEH ACE Y9 FE-A 8 P

(1) ARIE (2) ¥

(3} AT (4) FA

(17) P.T.0.
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52. FIOisto prevent:

(1) Adultration (2) Purity

(31 Wrong weights (4) Wrong labelling
Qﬁoﬁuaﬁn UM Il E

(1) e & 2) Yot

(3) AT AUATA B (4) T wEfeT Wt

53.  Which is necessary in colour ?
(1) Balance (2) Harmony
(3) Goal or Aim {(4) Proportion
@ g A e d 8 v

(1) werd (2p STTHEET
(3) e () ST
54. The number of molecules decomposed on @bsorption of per phaten of UV-Vis
light is called : a d da
(1) vield of the reaction (2) quantum vield
{(3) quantum efficiency (4) quantum productivity
el argeie I woTe @ U $IEt @ Imum W ametRa sa @ der A
thal il _ET .
(1) i & iy (2) @Eves wik
(3) =FaTUeT geT (4) FOUEY SETEE

55. II 's"is the solubility of Cak,, the solubility product (K} would be expressed

a5

{]J K-.'l'u = H‘?‘ {2) Kwp B 51 {3} K-l'u e ‘I"‘;:' “'I.'i K\.:_- —~ -1:'?'1:
afy 's' CaF, ® faome & & fFagar s (K & @ra o s

(1) Kq-_a =g EE-} K-—p = & (3) Krp = it {+) K,.P. = ds’

(18)
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58.
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An emulsitier [ynctions to -

I coagulate a colloidal solution

12) slabilize a sol

(3) stabilise an emulsion

() electrify a colloidal solution
SRrElehet T weeT #

(1) wfe=im famg @) vl &= & Gy
() e o veml e @ fow

(2) T R Temy W & R

(4) Sferetta fem @) figmm o @ g

For one component svetem the phase rule is :

(1) F=3-P 2} E=2-P
(3 =1 -5 Ay F 94 -1
e HTH O] T Belh T

(1) F =0

A+ H, 50, » B (a colourless gas with irritating smell), B + H, SO, + K, Cr, O-
—» green solution, A and B are :

(1) SO3, 50, (2) CI-, HCl

(3} S, H.S (4) Co;,cCo,

A + H, 50, - B (& T % 911 Uw WEH 46), B + H, SO, + K, Cry Oy — &0
ez, A 19 BE

(1) SOi, 80, (2) Cl, HCI

(3) 8§, H\S 4) Co¥,cCo,

Which of the following is not a nucleophile ?

(1) OH" (2) CN (3) BF, (4} NH,
e E T e faeaTETE e A
i) OH (2) CNT (3} BF, (4) NH;

(19) P.T1.C.
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60.

61.

62.

63.

Which of the following does not react with ammonical AgNQ), bul decoipurises
bromine water ?

(1) C,H, (2) C,H, () C,1, (4) C,H,

frm & FL @ SRR AgNO, W afafpm W bl 8 et 2
AT ] MEE T g 7

(1) C.H, (2} CyH, (3) Gl (4) C:H,

Benzene 1 converted into toluene by

(1) Grignard reagent {2) Perkin reaction
31 Friede!-Craft's reaction (17 Wurle reaction
defta @7 g | vRafd G wan g

(1) frmar sffed® gr (2) ufthr sfafdan g
(3) wee-Hines aufd gri (4). gt i g

Which one of the following reagents is used to differentiate chlorobensene from

benzyl chloride ?
(1) Bra 0 a d g th AgNO,

{3) Br.in CCl,

e 3 fra afveds &7 w0 deRiaend @ delld aelIgs W ST b i Ty
'.ai-':f! HIAT ? I

(1) H.,OH Br, (2) aremiEfad AeNO,
(3) CCl, ¥ Br, (4) KMnO,

Which of the following has ~O-0- linkage 7

(1) H.S.0, (2) H,S5,0,
(31 H.5,0, (4) 14,5.0,
S W e —0-0- du 8 7

(1) H.8:0, (2} Ha.5.0,
(3) H,5,0, (4) H.5.0,

(20)



64.

18U/92/29(Set-1)

Both INi(Cl),f" and [NHCN),J™ are diamagnetic. The hybridisation of Ni in
these complexes respectively arc

(1) sp?, sp® @) o, dsp?
(3) dsp, sp’ @) dsp?, dsp?
INI(CI), T T [NHCN), P 4rit sf-saader & | g <ot & Ni &7 e F991 3
(1) sp’, sp’ (2) s, dsp®
(3) dsp?,sp® (4) dsp’, dsp’

65. The species in which the central atom uses sp--hybridised orbitals in its b nding

66.

67.

15

(1) CH, (2) NH, (3 PH, {(4) SbH,
AT 819 A sp AR BHRT. B 3Udn 39 a4 2 &
(1) CH; (2) NH; (2] e (4} SbH,
'Power-House' of cell is :

(4 Nucleus a d}damic reticulum
(3) Mitochondria (4) Golgi Complex
BNE F Tl T

(1) Heaw (2) goeErEnfmE-Yeqem

(3) mrEcIPIg (4) et P

Which is an anneiid ?

(1) Ant (2) Crab

(3) Nereis (4 Oclopus

efeRaa # ofvferer @1 o & -

(1) =iy (2) @ael

(3) fafew (4) sfFErra

(21) P.T.O.
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58. Which phylum has highest number of species ?

69.

70.

71.

(1) Protozoa

(3} Arthropoda

ey Ty wew warer wory wed o #

(1) UlEraan

(3y affeiaier

Amoebic dysentery is caused by :
(1} Plasuodinm vivax

(3) Amoeba protens

e ety fE® g B ¥ 2
(1) CIoTHIST agdRT
(3) arflar mi2va

Pearl is produced by :
(1} Oyster

(3) Doris

Arfy FeET 8

(1) sirvey |

(3) ST H

Pipe-Fish' is the common name of :
(1) Syngnatis

(3) Amnabas

T WuE W1 AR wafed JH E
(1) Ryerd

(3) T

(22)

{
dJ,}
(

(2) Porifera

(4) Mollusca

?

Hiolp]

(2)
(4)

(2)
(4)

Entamocha ustolytica

Taenia solium

0 W 0 Ll L T L
}. e ﬂﬁ?’”{q

2} Nautilus

Chiton

Arafoed H
w4

Hippocamptis

Remaora

(2) feuday
(1) 5T



2.

73.

74.

75.

18U/92/29(Set-1)

‘Neoteny' refers to -

(I) Retention of rudimentar y organs

(2) Retention of larval characters in adults
(1) Metamorphosis

(4} Moulting

fmat &1 el @

(1) i@ a1 & smaumwo 9

Q) T ¥ T B T B s @

(3) FURRY H

(4) @ger Faa &

Heart in crocadiles is

(1} Incompletely 4-chambered (2)" Completely 4-chambered
(3) 3-chambered (4) 2-chambered

HTOATE @ god W e 8 7

(1) el 4 gdis a d} ae

(3) 3 UpTss (4) 2 v

Which of the following is the characteristic of bird's eye ?

(1) Lens (2) Retina (3) Pecten (4) Iris
P & -8 o & ot o ey & 7

(1) &% (2) ¥ (3) wae (4) snsRw
The toothless gap due to the absence of canines is known as :

(1) Epiglottis (2) Glottis

(3) Diastemma (4) Cheek

(1) udrefea (2) enfes

(3) BIFCHT (4) FIA

(23) P.T.O.
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76.

77.

78.

7%

Fertilization in mammals oceurs in the

(1) Vagina (2) Uterus

(31 Fallopian tubes {(4) Ovary

v A AvE dr d

(1) A= = (2) it 4

(3) Tormie & (4) e

In which of the following National Parks Indian rhino is conserved ?
(1) Corbett National Park (2) Kaziranga National Park
(3) Manas Santuary (4) Kaimur Santuary
wdrg 2 g o are F wedae e om g 7

(1) @rde e dih (2) I TR O
(3) T T (4), DITRT
Haploid endosperm is found in:

(1) Pteridophytes a d{d)aspermﬁ
(3} Monocots (4) Dicots
SURGRCURIE RO IR

(1) eRemwEed ® (2) sFTgadra A

(1) Ud4TAUAl A (4) fadmmn ¥
Phveobiliproteins are present in members ol

(1} Chlorophvta (2) Cyanophyta

(3) Phaeophyta (4) Dinophyta
FETRAVIET U wawl ¥ urar ol 8

(1) deiRHTEe (2) WA e

(3) fpATRTEET (4) STgHTHEE

(24)



80.

81.

82.

83.

18U/92/29(5et-1)

Which of the following fruiting bodies in Ascomycotina is lacking an opening ?
(1} Hysterothecium (2) Apothecium

(3) Perithecium (4) Cleistothecium

TIEHEEA § [ 9 B Beres e § 78T gy & 7

(1) feesieifeam (2) warfEge

(3) TrEREE (4) weitereifiym

A cvanobacterium (blue-green alga) forms symbiosis with a plant which is used
as biofertilizer, the plant is :

(1) Hydrilla (2} Salvinia

(3) Azolla (4) Nelumbo

argnaeife (fren-elRa dare) O @ wu weoles s @ Rraer sume O
Tve @ w9 A o € dten &

(1) ergfgar (2) Tedlferar
(3) g (4) ot
Peduncle is a stalk of : d
adda
i3) Inflorescence (4) Fruit
g (P I b

(1) el &1 (2) ™A ]
(3) g9 & (4) B @

In Pteridophytes, stele without pith is known as :

() Dictyostele (2) Siphonostele

(3) Solenostele (4) Protostele
clEmIEcy H I B T STl T T

(1) feadlam=id & w7 § (2) ARTHRE & wY F
(3) WA & WY # (4) WEwEHd ® w0 o

(25) P.T.O.
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84,

85.

86.

Archegonia are found in :

(1) Fungiand Bryophytes

(2) Brvophytes and Pteridophytes

{3) Bryaphyles, Pteridophytes and Gymnosperms
{4) Pteridophytes, Gymnosperms and Angiosperms
anferfrT ur S g

(1) Ta® adl FAEEeH A

() FTITETSER duT SETHIEET b

(3) arirFged, SREmTges qu Sgddre |

(1) HNSTHEEH, A e ST i

New name of family graminae is:

(1) Asteraceac (2 Socvnaceae
(3)" Lamiaceae a ae
T BTG @l T A B

(1) wereH (2) GO
(3) wifFaed (4) O

Type of Cg}ffeu fruit is known as

(1) Berry (2) Pome
(3) Cypsella (4) Nut
FIE] Wl & WHR WA Gl E

(1) =& (2)
(3) Reeen {4) =

(26)



87.

88.

89,

80.

18U/92/29(Set-1)

Oxygen evalves in plant photosynihesis during :
(1) Photosvstem 1

(2) Photosystern I

(3) Both Photosystern | and Photosystem 1T

(4) Photorespiration

FTTOA ol qETe Heemor ¥ fasfam g @

(1) w9 ggi |

(2) W ugha 1

(3) vy Ggfd 1 vd yerw ugly 11 g

{4) Yhlgl 245G

Plants are categorised on the basis of day length required for flowering, as per

this Sugarcaneis a

(1) Long day plant (2) Short day plant

(3} Day neutral plant 4) Night neutral plant
U (B g BeesTaREe . 2 T fbur w2 g

G-IEHQTI?IT%:

(1) =mwar fasi den (2) erer 2 den
(3) f2= dew g (1) ¥rd Tever g

Nullisomic aneuploids are represented by :
T UToEs @ Rl e

(1) 2n-1 (2) 2n-1-1 (3) 2n-2 (4) Zn+2

The operalor &é& is which type of operator ?

(1) Assignment (2) Increment (3) Logical (4) Relational
ey &&' Fefefad § O P9 UPR w1 8 7
(1) s@EE-HE (2) FHE (3) ifrra 1) Remas

(27 ) P.T.C.
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91.  What will be the output of following source code ?
void main()

1

int a=15,b=25,c=34;

c=a+b;

b=c-b;

a=¢ - by

printf{""ed %d %d",ab,c);

I

(1} 152843 {2) 281543 (3) 152834 (4) 281534
Srfailg WW @ ATSeye @ B Y
void main()

!

int a=106,0=28 c=34;

adda
==l

a=¢ - b;

printf("%d %d %d”,a,b,c);

!

(1) 152843 (2) 281543 (3) 152834 (4) 2815 34

92. Karnaugh map (K-map] technique provides a svstematlic method  for

simplifving :

(1) Multiplexers (2} Logic gates

{3} Boolean expressions (4) DeMultiplexer
Kt e fafetee F & fFe v &9 1 et diTe & 2
(1) weteTa 2y difer e

(3) qeltaa vemE= (4) S-AedIwi

(28)
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9. If 4 logic gates has four puts, then total number of possible input

94,

95.

combinations s -

(1) (2} § (3} 32 (4) 16
Hﬁwaﬁﬁﬂtﬁﬁtaﬁwﬁfﬁﬁwwwﬁﬁ@ﬂ@wm@ﬁ?
T (2) 8 (3) 2 4) 14

We have to build a memory capacity of 2048 bytes using 126x8 RAM chips.
Specify the size of decoder Lo select a RAM chip in memory :

() 3x3 (2} 4x16
f3) 2 d {4) 5x32

5 128 x 8§ RAM U @1 Wil avd §U Us 2048 a15T ama 91 98 g £
AR A RAM Rt wa9 we @ 2y ey @ wigw qur w2

(1) 3x8 (2)H@lq
(3 2x4d (4) 5x32

Which ol the tollowing is a mﬂiial

(1) Secondary memaory

) Auxiliary memory

{3) Cache memory (4) Virtual memory
W 0 B wia e B BEET 22

(1) b= wmrd (2) wewms ARy

(3) &Y AR (4) Tdorr HERG
Which memory device is generallv made of semi-conductors ?
(1) RAM (2) Hard-disk

(3) Floppy disk (4) CDdisk
Feforfan # S99 W um: adwrae @ Bffg & o @ 2
(1) ¥4 (2) &8 farm

i3) Tl fewn (4) @ D =

(29 ) P.T.O.
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97.

98.

99,

100.

Using Lagrange’s formuia the value of x, when y = 13.5 will be

(1) 98.14 (2) Y7.66
(3) 96.99 4) 96.43
JS T BT T Fvd g¢ x4 W P, 9f y - 1354
(1) 98.14 (2) 97.66
(3} 96.99 (4) Y643

The minimum and maximum value of 7 cos 0 + 24 sin 0 will be :

(1) ~5and +5 (2) —10and + 10

(3) —15and + 15 (4) —25and + 25

7 cos 0+ 24 sin 0 &1 =7 4 sifermes 7 FferRad o W w e 7
(1) =501+ 5 : (2) =10 797 + 10

(3) - 13 @90+ 15 Ll 5 I

Which of the follewing formula is mogt accwrale for numerical integration ?
(1) Simpson’s rule a a;.uidn'l rule
(3) Weddle's formula Vo Gatss's Quadrature tormula

Prafofe 3§ @ &3 g TR e Wagve @ piea g @ R

(1) R 3@ (2) ToATgEA A
(3) ded T {4) i aaigaw g

[f x and v be two real variables such that x = 0 and v = L, then minimum valu
of x + v will be ;

(1) 1/2 (2} 1 (3) 2 () 3

Ay ol y @) Rae Rgea & x > D@ xy = 1, 09 x + v B AAE 7E R
LI

(1) 1/2 (2) 1 {(3) 2 5 W

(30)



FOR ROUGH WORK /3% &Td & forg

A
addaz=y7



u

~3

10.

11.

13.

14

apaferat & fag Frde
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|
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a8l A= e & A weatug ufig @ W T o i gd) @1 drel Bie d Uah Bl U g
F TE
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wAr :
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